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Time Allowed: 1 hour and 30 minutes

ATOMIC ENERGY CENTRAL SCHOOL - 3,MUMBAI
-‘ ANUSHAKTINAGAR

PERIODIC TEST - 1 (2025 - 26)
CLASS 08 - SCIENCE

General Instructions:
The question paper consists of four sections.

1.
2.

Il

Section A contains 8 Multiple Choice questions of 1 mark each.
Section B contains 3 questions of Very Short Answer question (VSA) of 2 mark
each.

Maximum Marks : 40

Section C contains 4 questions of Short Answer question ( SA 1) of 3 marks each.

Section D contains 1 question of Case Based question of 4 marks .
Section E contains 2 questions of Long Answer question (LA ) of 5 mark each
All questions are compulsory.

Wherever necessary, neat and properly labeled diagrams should be draw

Section A
1 | Which of the following briefly describes the desert climate? [1]
a) Hot and humid b) Dry and humid c¢) Hotanddry  d) Hotand wet
2. | When air is heated ,it [1]
a)sinks down b)risesup c)expands d) Both (b)and (c)
3 | Assertion (A): fish cannot live out of water and a camel cannot live in sea. [1]
Reason (R): Adaptation of organisms differ depending on their place of
dwelling.
a) Both A and R are true and R is the correct explanation of A.
b) Both A and R are true but R is not the correct explanation of A.
c) Ais true but R is false.
d) A is false but R is true.
4 | We can obtain roughage by adding [1]




a) Butter and fruits b) Seasonal salad and vegetable

c) Milk and ghee d) Soyabeans and meat

The oxides of metals are

a) acidic b)basic c)amphoteric d) all of these

[1]

The total water:
a) Under the ground remain constant  b) Sea and ocean remain constant

c) Of the world remain constant d) Of ponds and rivers of the world
remain constant

[1]

Which of the following is the male sex hormone?

a) Progesterone b) Estrogen c) Testosterone d) Adrenaline

[1]

In terms of increasing distance from Sun, the correct sequence of the first the
inner planets of the solar system is

a) Venus, Mercury, Earth b) Earth, Venus, Mercury

c) Earth, Mercury, Venus d) Mercury, Venus, Earth

[1]

Section B

Mention the food constituents which may be lacking in one’s diet, in case of
the following:

1. A person suffering from anemia.
2. A boy suffering from poor eye sight.
3. A child suffering from bleeding gums

4. Alady suffering from goiter

[2]

10

How does the motion of a satellite differ from that of a planet?

[2]

11

What are some of the changes seen in boys during puberty?

[2]

Section C

12

How can eating local food help our environment and farmers?

[3]

13

What is Pole star? How do you locate the position of pole star?

[3]

14

What are the different ways in which we can prevent rusting of iron?

[3]

15

Why is it important to take care of personal hygiene during puberty?

[3]

Section D

16

Read the following text carefully and answer the questions that follow:

Some plants grow really tall and have hard, thick, brown, and woody stems.
Their branches typically start higher up on the stem and away from the

[4]




ground. These plants are called trees. Some plants are not as tall as trees.
These plants often have many brown woody stems that start branching very
close to the ground. These stems are hard but not as thick as the stem of a
tree. These plants are called shrubs. Some plants are typically small with soft
and green stems. These are known as herbs. For example, a tomato plant is a
herb. Some plants with weak stems need support to climb and grow and are
called climbers. Some plants creep along the ground and are called creepers.

1. Why are some plants called climbers? (1)
2.  What is a characteristic feature of the stem of a tree? (1)
3. How are trees different from shrubs? (2)

OR

Why do creepers spread along the ground instead of growing upright? (2)

Section E

17

Write differences between metals and non-metals based on their physical
properties.

[5]

18

Briefly describe the water cycle with a diagram.

[5]




ATOMIC ENERGY CENTRAL SCHOOL NO. 3, MUMBAI
PERIODIC TEST — 1 (2025 - 26)

M.M: 40 Class VI Time: 1 hour 30 minutes

SUBJECT: ENGLISH

SECTION A-READING
Q1. Read the passage and answer the following questions: (10 marks)

The Importance of Reading Books

Reading books is one of the most enriching habits a person can develop. Books are like windows to
different worlds, allowing us to explore new ideas, cultures, and perspectives. Whether it's a thrilling
adventure, a historical account, or a work of fiction, books provide knowledge and entertainment at the
same time.

People who read regularly often have a better vocabulary, improved concentration, and a more active
imagination. Reading also helps improve writing skills, as it exposes the reader to different styles of
expression and sentence structure. Studies have shown that students who read daily tend to perform
better in school and are more creative in their thinking.

Moreover, reading is a great way to relax and reduce stress. Just a few minutes of reading can calm
your mind and help you forget the worries of the day. Unlike watching television or playing video games,
reading requires mental involvement, which keeps the brain active and sharp.

In today’s digital world, the habit of reading books is slowly fading, especially among children. Many
prefer to spend their time on phones or computers. However, it is important to remember that no digital
device can replace the experience of holding a book in your hands and getting lost in its pages.

Parents and teachers should encourage children to read more often. Visiting libraries, creating reading
hours, and gifting books on special occasions can help in developing this wonderful habit. In the long
run, reading not only enhances knowledge but also shapes character and thinking.

MCQ Questions

1. What is the main idea of the passage?

a) Watching movies is better than reading b) Reading books is a valuable habit
c) Digital devices help in reading d) Writing skills are not important

2. According to the passage, books help us:

a) Sleep better b) Travel to new places physically

c) Explore new ideas and cultures d) Spend more money

3. Regular reading improves:

a) Physical strength b) Vocabulary and concentration
c¢) Cooking skills d) Drawing ability

4. How does reading affect stress?

a) Increases stress b) Has no effect on stress

c) Reduces stress d) Causes headaches

5. What is a major challenge to reading books today?
a) Too many books b) Lack of electricity
c) Digital distractions d) No libraries



6. What role do parents and teachers play in reading habits?
a) They should avoid suggesting books b) They should encourage reading
¢) They must buy gadgets d) They should limit reading time

7. What cannot replace the experience of reading a book?
a) Computer games b) Digital devices
¢) Watching cartoons d) School projects

8. Which of the following is NOT mentioned as a benefit of reading?
a) Improves writing b) Enhances creativity
c) Teaches dancing d) Sharpens the brain

9. The word enriching in the passage means:
a) Expensive b) Beneficial
¢) Time-consuming d) Difficult

10. What is the overall message of the passage?
a) Reading is a waste of time b) Reading is only for academics
c) Reading is a valuable habit that improves life d) Reading is boring

SECTION B — WRITING (10 MARKS)

Q1. Write a leave letter to your class teacher, requesting a leave of 3 days due to a family function.
Mention the dates and assure that you will complete all missed assignments. ( 6 marks)

Or

Write a formal letter to the Municipal Commissioner of your city, complaining about the poor condition of
roads in your area. Describe the problems you are facing and suggest possible solutions.

Q2. Write any ONE of the following notices: (Choose any one — 4 Marks)
a) You have found a pencil box in the playground. Write a notice for the school notice board.
Or

b) Your school is organizing a Tree Plantation Drive. Write a notice informing the students.

Section C: Grammar (6 Marks)

Q1. Edit the following paragraph. There is one error in each line. Write the incorrect word and
the correction. (1x3=3 marks)

Incorrect Correction
Ravi goes to school on a bicycle. He has a red bag which are
very big. He keep his books neatly. He also carry

his lunch box. Ravi are a good student.



Q2 Fill in the Blanks with Past Perfect Tense

1. By the time | arrived, they __ their homework.
a) had finished

b) finish

c) have finished

2.She __ herlunch before she went out to play.
a) had eaten

b) eat

C) eats

3.We __ our project before the deadline.

a) had completed

b) complete

c) completes

Fill-in-the-Blanks with Question Tags

1. You like ice cream, ?
2. They've finished their project, ?
3. It's a beautiful day, ?

(6%1/2= 3marks)

SECTION C - LITERATURE (14 MARKS)

Answer the following in brief (Any 5)

Who buys the necklace from Ran;ji?

o Ol WN B

I Answer the following in detail (Any one)

1 What does the story of the White elephant teach us about responsibility and caring for

family?

Describe Ranji’'s experience with the necklace?

(2x5=10 M)

What was the trouble that the traveller had been facing?
What does the elephants response reveal about his feelings for his mother ?
What qualities of the white elephants make him a noble character?
How did the wind , moon and stars contribute to the playful atmosphere in the poem?

(4 MARKS)

2 What is the main idea of the poem ‘ Cloudplay’? Answer in detail.
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ATOMIC ENERGY CENTRAL SCHOOL - 3,MUMBAI

ANUSHAKTINAGAR

PERIODIC TEST - 1 (2025 - 26)

CLASS VIII SUBJECT-: SOCIAL

SCIENCE

Time Allowed: 1 hour and 30 minutes Maximum MarKks : 40

Section A(MCQ)

1 Choose the correct option [1]
Which of the following crops is a Rabi crop?
(@) Bajra (b) Wheat (c) Maize (d) Cotton

2 The soil type most suitable for growing cotton is [1]
(@) black  (b)red (c) sandy (d) laterite

3 The Green Revolution in India mainly focused on which type of crop? [1]
(a) Pulses  (b) Fruits (c) Food grains (d) Spices

4 “Golden Temple” is located in which city of India? [1]
(a) Amritsar (b) Ujjain (c) Varanasi (d) Mathura

5 2. The Gwalior fort is located in which Indian state? [1]
(a) Odisha (b) West Bengal (c) Madhya Pradesh (d) Gujarat

6 Who is considered the "Father of the Indian Constitution"? [1]
a) Jawaharlal Nehru b) B.R. Ambedkar
¢) Mahatma Gandhi d) Sardar Vallabhbhai Patel

7 The Indian Constitution was adopted on: [1]
a) 15th August, 1947 b) 26th January, 1950
c) 26th November, 1949 d) 2nd October, 1950

8 The Indian Constitution came into effect on: [1]
a) 15th August, 1947 b) 26th January, 1950
c) 26th November, 1949 d) 2nd October, 1950

9 3. Which River is the Kashi Vishwanath Temple located nearby? [1]
(a) Ganga (b) Yamuna (c) Sarasvati (d) Godavari

10 Who built the Red Fort in Delhi? [1]
(A) Akbar (B) Shah Jahan C) Aurangzeb (D) Humayun

Section -B(very Short answer ) 2X2=4
11 Explain the term public facility with the help of example? [2]
OR

How public facilities play important role for our society?

12 Define agriculture and mention two types of farming practised in India [2]

Section c(Short Answer type question) 3X4=12




13 Write a short note on kashi Vishwanath temple ? [3]
14 Who was Drafting Committee Chairman of the Indian Constitution? Write his [3]

contribution in the making of Constitution?
15 Write the difference between public and private sector ? [3]
16 Define human resources. Why are they important for a country? [3]

OR
Discuss three factors that influence the distribution of population.
Section D (case study)

17 Fundamental rights are a set of basic human rights that are guaranteed to all citizens | [4]

by a nation's constitution. These rights are essential for individual development,
dignity, and well-being, and they serve as a cornerstone of democracy by protecting
citizens from potential state overreach and ensuring basic freedoms. They are
considered fundamental because they are crucial for a just and equitable society,
and they are often enshrined in the constitution as a safeguard against potential
abuses of power. This right ensures that all citizens are treated equally
before the law, regardless of their caste, religion, gender, or place of
birth. It prohibits discrimination and guarantees equal access to public
spaces and opportunities. This encompasses various freedoms, including
freedom of speech and expression, freedom of assembly, freedom of
association, freedom to move freely throughout India, freedom to reside
and settle in any part of India, and freedom to practice any profession or
carry on any occupation, trade, or business. This right prohibits human
trafficking, forced labor, and child labor, protecting vulnerable individuals
from exploitation.

Q1 What is the meaning of fundamental rights ?(1 marks)

Q2 Write the four fundamental rights ?(1marks)

Q3 Match the following real-life scenarios to Fundamental Rights ?(2 Marks)




1. Example: A child goes to school regardless of (a) Right to Freedom of Speech
their background and Expression

2. A person speaks freely about an issue (b) Right to Freedom of Religion
without fear.

3. A child is prohibited to work in factories (o) Right to Equality

4. A person follows their religion without (d) Right Against Exploitation
anyone stopping them
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Section E (long answer type question) 5X2=10

18

How does the government generate funds for public facilities, and why is
taxation important in this process?

OR
Discuss the importance of public facilities in a country like India. How does the
government ensure their availability, and what challenges exist in their
distribution

[5]

19

Why is crop rotation important for maintaining soil fertility? Discuss any two
challenges faced by the Indian farmers.

OR
Describe a few major types of soil found in India and their characteristics,
advantages, and disadvantages.

[5]




ATOMIC ENERGY CENTRAL SCHOOL -

PERIODIC TEST 1
Class: 8

Subject: Mathematics

General Instructions:

All questions are compulsory.

The Question paper consists of 5 sections.

Section A consists of 10 MCQs of 1 mark each.

Section B consists of 3 questions of 2 marks each.

Section C consists of 2 questions of 3 marks each.

Section D consists of 2 questions of 5 marks each.

Section E consists of 2 case study questions of 4 marks each.
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Duration: 1 Hrs 30 mins

Maximum Marks: 40

SECTION A

1. Which number is a perfect square?
a) 36 b) 46 c) 56 d) 66

2 3
Value of? + 3

a5 b - o = d

The missingnumberis
a) 15 b) 10 ¢) 20 d)18

4 A polygon has at least sides
a) 4 b2 ¢)3 d) 1

5. Choose the next term
10 13 18 25
a) 28 b)34 ¢)35 d)33

6. A four sided figure with pair of parallel side is called
a) Square b) rectangle c¢) trapezium d) hexagon

7. Which of the following is a 5 digit palindrome number?
a) 12321 b) 1101 ¢) 12131 d) 1011

8. Which pair of the following fractions is equivalent?
a) %and1—62 b) % and% c) %and% d) %and%




9. What is the number whose digits add up to 18?
a) 446 b) 546 c) 646 d) 746
10. 3/4of 24 is
a) 16 b) 1 ¢) 21 d)18
SECTION B
11. Mark or Colour the supercell
a)
107 102 103 104 105 106
b)
21 31 47 51 42 32 62
12. Write the largest and smallest 3 digit palindrome and find their sum and difference
13. Write a numerical statement and formulate a word problem using 8 +9 =17
SECTION C
RV
= x2 — 2, If Xis an even number
X
= % + 2, if X'is an odd number
a) Whatis the value of b) What is the value of
/I\ -3 =7 ﬁ;\ +| 5| =2
15. Find the value
5 4 6 15
Q) 7T b) &t 35
SECTION D
16. a) Fill the grid with prime numbers only, so that the product of each row is the

number to the right of the row and the product of each column is the
number below the column:

105

20

30

28 125 18




b) Write one 5 digit number and two 3 digit numbers such that their sum is
19750.

17.

a) Students appeared for 10th board examination in a school over the last six
years is as follows:

Year 2019 | 2020 | 2021 2022 | 2023 | 2024

Students 75 80 95 100 90 90

Plot the line graph.

SECTION E

18.

Ravi has some square cards, while Ashok has both triangular and circular cards.
They arranged the cards as below:

B N Bt
AA-N--
AR O-u

a) What is the value of each square card?
b) What is the value of each triangular card?

¢) Find the value of
.0 m-

A A

19.

200 students of Class 7 and 8 were asked to name their favorite colors so as to
decide upon what should be the color of their school house. The results are shown
by the bar graph.

-
=
=

70+
&0
50

E]mugl N

Mame of colour .
a) Which is the most preferred colour?
b) Which is the least preferred colour?
¢) How many of the students together like Yellow and Orange?

Number of students




Time Allowed: 1 hour and 30 minutes

ATOMIC ENERGY CENTRAL SCHOOL - 3,MUMBAI
-‘ ANUSHAKTINAGAR

PERIODIC TEST - 1 (2025 - 26)
CLASS 08 - SCIENCE

General Instructions:
The question paper consists of four sections.

1.

Section A contains 8 Multiple Choice questions of 1 mark each.

Section D contains 1 question of Case Based question of 4 marks .

All questions are compulsory.

Wherever necessary, neat and properly labeled diagrams should be draw

Maximum Marks : 40

2. Section B contains 3 questions of Very Short Answer question (VSA) of 2 mark each.
3. Section C contains 4 questions of Short Answer question ( SA 1) of 3 marks each.
4.

5. Section E contains 2 questions of Long Answer question (LA ) of 5 mark each
6.

Section A
1 | Which of the following briefly describes the desert climate? [1]
a) Hot and humid b) Dry and humid c¢) Hot and dry d) Hot and wet
2. | When air is heated ,it [1]
a)sinks down b)risesup c)expands d) Both (b) and (c)
3 | Assertion (A): fish cannot live out of water and a camel cannot live in sea. [1]

Reason (R): Adaptation of organisms differ depending on their place of dwelling.

a) Both A and R are true and R is the correct explanation of A.
b) Both A and R are true but R is not the correct explanation of A.
c) Ais true but R is false.

d) Ais false but R is true.




We can obtain roughage by adding
a) Butter and fruits b) Seasonal salad and vegetable

c) Milk and ghee d) Soyabeans and meat

[1]

The oxides of metals are

a) acidic b) basic c)amphoteric d) all of these

[1]

The total water:
a) Under the ground remain constant  b) Sea and ocean remain constant

c) Of the world remain constant d) Of ponds and rivers of the world remain
constant

[1]

Which of the following is the male sex hormone?

a) Progesterone b) Estrogen c) Testosterone d) Adrenaline

[1]

In terms of increasing distance from Sun, the correct sequence of the inner
planets of the solar system is

a) Venus, Mercury, Earth b) Earth, Venus, Mercury

c) Earth, Mercury, Venus d) Mercury, Venus, Earth

[1]

Section B

Mention the food constituents which may be lacking in one’s diet, in case of the
following:

1. A person suffering from anemia.
2. Aboy suffering from poor eye sight.
3. A child suffering from bleeding gums

4. Alady suffering from goiter

[2]

10

How does the motion of a satellite differ from that of a planet?

[2]

11

What are some of the changes seen in boys during puberty?

[2]

Section C

12

How can eating local food help our environment and farmers?

[3]

13

What is Pole star? How do you locate the position of pole star?

[3]

14

What are the different ways in which we can prevent rusting of iron?

[3]

15

Why is it important to take care of personal hygiene during puberty?

[3]




Section D

16

Read the following text carefully and answer the questions that follow:

Some plants grow really tall and have hard, thick, brown, and woody stems. Their
branches typically start higher up on the stem and away from the ground. These
plants are called trees. Some plants are not as tall as trees. These plants often
have many brown woody stems that start branching very close to the ground.
These stems are hard but not as thick as the stem of a tree. These plants are
called shrubs. Some plants are typically small with soft and green stems. These
are known as herbs. For example, a tomato plant is a herb. Some plants with
weak stems need support to climb and grow and are called climbers. Some plants
creep along the ground and are called creepers.

1. Why are some plants called climbers? (1)
2.  What is a characteristic feature of the stem of a tree? (1)
3. How are trees different from shrubs? (2)

OR

Why do creepers spread along the ground instead of growing upright? (2)

[4]

Section E

17

Write differences between metals and non-metals based on their physical
properties.

[5]

18

Briefly describe the water cycle with a diagram.

[5]




